

$$\begin{aligned} \{ a_1 + a_8 &= r\lambda \rightsquigarrow a_1 + a_1 q^8 = r\lambda \rightsquigarrow a_1(1+q^8) = r\lambda \} * \\ \{ a_7 + a_8 &= 1r \rightsquigarrow a_1 q + a_1 q^8 = 1r \rightsquigarrow a_1 q(q+1) = 1r \rightsquigarrow a_1(q+1) = \frac{1r}{q} \\ \rightarrow a_1 + a_7 + a_8 &= r\lambda \rightsquigarrow a_1 + a_1(q+1) = r\lambda \rightsquigarrow a_1(q+1) = r\lambda - a_1 = r\lambda - \frac{1r}{q} \\ a_1 \left(\frac{(q^8+1)(q-1)}{q-1} \right) &\Rightarrow a_1((q^8+1)(q-1)) = r\lambda - \frac{1r}{q} \rightsquigarrow a_1(q+1)(q^8+1) = r\lambda - \frac{1r}{q} \end{aligned}$$

$$\begin{aligned}
 & a_1 + \overbrace{ar}^{1^{\text{ste}} \text{ Potenz}} + \overbrace{ar^2}^{2^{\text{te}} \text{ Potenz}} = 1r^0 \quad \leadsto \quad a_1(1+r+r^2) = 1r^0 \quad * \\
 & a_1 \cdot \overbrace{ar}^{1^{\text{ste}} \text{ Potenz}} \cdot \overbrace{ar^2}^{2^{\text{te}} \text{ Potenz}} = \overbrace{r^3}^{3^{\text{te}} \text{ Potenz}} \quad \leadsto \quad a_1^3 \cdot r^3 = r^3 \quad \leadsto \quad \sqrt[3]{a_1^3 \cdot r^3 = r^3} = \boxed{a_1 \cdot r = r} \quad \leadsto \quad ar \quad (r) \\
 & - \left[a_1 = \frac{ar}{r} = \frac{r}{r} \right] \quad \leadsto \quad * a_1(1+r+r^2) = 1r^0 \quad \leadsto \quad * r \left[\frac{r}{r} (1+r+r^2) = 1r^0 \right] \quad \leadsto \\
 & r(1+r+r^2) = 1r^0 \quad \leadsto \quad r + r^2 + r^3 = 0 \quad \leadsto \quad r + r^2 - 1 \cdot r + r^3 = 0 \quad \leadsto \quad r^3 - 1 \cdot r + r^3 = 0 \\
 & \text{if } r = r \rightarrow \frac{1}{r}, \frac{r}{r}, \frac{r^2}{r} \\
 & \text{if } r = \frac{1}{r} \rightarrow \frac{r}{1}, \frac{r^2}{1}, \frac{1}{1} \\
 & \Rightarrow \begin{cases} a_1, a, ar \\ 1, r, r^2 \rightarrow r = r \\ a, r, 1 \rightarrow r = \frac{1}{r} \end{cases} \quad \Leftarrow \begin{cases} r^3 - 1 \cdot r + r^3 = 0 \\ (r-1)(r+1) = 0 \\ r = \frac{1}{r} \\ r = \frac{a}{r} = r \end{cases}
 \end{aligned}$$

$$\begin{aligned} a_n &= r, 4, 16, \dots \Rightarrow r = r \Rightarrow \frac{r}{r} = r \\ \Rightarrow S_{10} &\Rightarrow S_n = a_1 \left(\frac{q^n - 1}{q - 1} \right) \Rightarrow S_{10} = r \left(\frac{r^{10} - 1}{r - 1} \right) = r^{10} - 1 = 109,69 \end{aligned}$$

$$b_n = a_{n+1} - a_n = a_1 q^n - a_1 q^{n-1} = a_1 q^{n-1} (q-1) \rightarrow \text{حاصل است } b_n$$

$$\frac{b_{n+1}}{b_n} = \frac{a_1 q^{n+1} (q-1)}{a_1 q^{n-1} (q-1)} = \frac{q^n}{q^{n-1}} \quad q^{n-n+1} = q^1 = q$$

(ب) تسلسل هندسي: $a, a, q, a, q^2, \dots, a, q^{(n-1)}$
 $\Rightarrow$ تسلسل هندسي: $S_n = a, a, q, a, q^2, \dots, a, q^{n-1}$
 $\xrightarrow{q \times S_n}$ $q S_n = a, q, a, q^2, \dots, a, q^n$
 $\downarrow$
 $q S_n - S_n = a q^n - a$
 $\downarrow$
 $S_n (q - 1) = a (q^n - 1)$
 $\Rightarrow S_n = a \left(\frac{q^n - 1}{q - 1} \right)$